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Schottische from Keverd :
) The dsnce is denced by couples in an opan Circle mﬂ?iﬂﬁ ceir, ; It ;
—~ tonslists of fowvr parts(A-D) which cen be denced in any order., However
it is preferahle to dance part D when the ccvple ahead 1s danﬂing part_

hUSIE: A slow schottische {bfu meter} Count I,E}j;# fa% E?ﬁry neas~
urel ) 2 . R : ‘. ¥ LAY o : G R &
PUEITIUHS during schottische step. Part A and C - Open hold with the
outer erms hanglng. The man holds the woman's hand from the fron
tha 1nsiﬁ3 of thelr Thands together. , -
Part b and D - Hanzing arms folluwing the hudy s mavemEnt..f
During the turns. lhE polska pﬂsiticn. ciws | w

ET;PS Schottische step uithouk e hop on the fourth bpat Instead:
use’ flexed knees durlng all. the steps, The. woman. Stﬂruﬁ with hey:
risht foot end the men with his left foot, 45

- During the turns: Part A, D.and D .~ The men. takns one step for-~

“ward with his left foot crossing over his right foot, pilvots CW

_ half a turn on tha bell of his left foot (1,2). During (3, ¥) hz
takes one step foruard with his right foot in the line of directi
end plvots CH = guarter of = turn on the ball of his right foot,

- The women has ths same steps, only she starts dancing.in the lina
of direction with the right foof, “hile the men dances the steps

L - ‘deseribedfor {1, 2), the woman dances those desﬂribeﬂ for [3 k),
) and vice versa, : P2 ol
b Part C - The schottische step as described ebove, '

THE  DAWCE & Part A (8 peasures)
I (2 measures): : . '
an and woman darice tuo schottische ‘steps. foriard, and in.a natura.
wey- fecing in towdrd each other dvrinu th? rirst mepsure ard facu
ing out during the second measure,
1T (2 iicasures): ) = R . s
Turn two complete turns as e ccuple, Hepeat I and 1T,
Part B (Bmeasvres) : ' o
I {2 measures): A S
Same as part A T; but with freely hanninw ATLIS,
IT (2 measures):
Same as part A IT. ieapeat I .and IT,
Part C {8 measures]
T (2 measures):

Seme as part A T
IT (6 measures) L . R W L S
Turn as a.couple vl th schottische’ steps to make three completo
turns, :
- Fart D (B me ESLTES] : i
I- (2 measures): e, WTEY TvE gk 3ed ¥
-Seme as pert B I = S e i
- I1(2 measures): e e n
= . Same as part. s 1I gt wEawy 5w owdEg ::hﬁ' ' e e 1l
- 1XI (2 measures): = o ' Yo nmat ex Riee e S gs
Seme as part B I, but the man and: fhe waman separate an& dance
past the couple ahead ik SR P ;5 R
IV {2 measures): i S S
Same as 5 II

. W



